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SECOND REVISION TEST -2025

Standard Xl Regio. [ | | [

MATHEMATICS
Time : 3.00 hrs Part - | tMarks - 90
I. Choose the correct answer: 20x1=20

1.

10. The angle between the lines ﬁ L v Z=2 and £= ""‘1

(2 0 1 4
If A= ]and5=[ }Ihen{adeE-F

15 20
a)—40 Y780 ¢)-60 i
-3 1 -1 ; ay1 di2 a3
fA=l2 -2 0 and Al 921, 822 833 | then the value of 4. is
(1 2 -1 a3 83 a3 e

a)0 b) =2 c)-3 - ﬂ)_/1‘

The conjugate of a complex number is é Then the complex number is

-2l =1 N
2 57 W o Oagk 9 7
211 Z3 Z3 are complex numbers such that z, + z, + 2y = 0 and [z = |z, = |z,] = 1 then
z2? + P+ 25l is : ol
a) 3 b) 2 e) 1 \dy 0

y"draﬁe the zeros of x + px2 + gx + 1, then E% is L
Y by =B ) Y o

oo =1 -1 3] _x : : '
sin (tani]— sin U;) —%. then x is a root of the equaticn

a) ¥-x-6=0 X=x=-12=0
c) ¥+x=-12=0= d) x24+x-6=0

" The circle x® + y2 = 4x + By + 5 infersects the line 3x - 4y = m at two.distinct points if

a) 15<m<65 b) 35<m=<85 ¢) -85<m<-35 =35<=m<15
~ If P(x, y) be any point on 16x2 + 25y2 = 400 with foci F,(3.0) and F,(-3,0) then
PF, + PF,is

a) ‘s b) 6 10 ~d) 12

{b:c} b.ff.::-:a]l C. [ﬂxﬁ}
(Exa)b [axb:m {r.:xh]a
a1 b) —1 c) 2 d) 3

Eg.r+3 _z+5

9% L8 o) % M

If Li b, Ei: 1, then the value of
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¥ ibes | Xl Maths

The point on the curve By = x* + 2 at which y-coordinale changes B times-as fast as
x-cotrdinale is

‘a) (4,11) b) 14.-11] c) (—4,11) - d) (—4,~11)
The maximum value of the function x2e~2%, x > 0 is

A b) Yo o Yo d) Y

The approximate change in the umumevar a cube of side x metres caused by increasing
the side by 1% is

a) 0.3xdxm? b) 0.03x m3 c) 0.03x? m3 "dr‘df:iﬂ m?

. a Fd
Forany value of nez, 1€°°% * cos®[(2n + )x)dx i
o ‘ L. O
a) % b) n % | d) 2

K_giny - 3 sin
If f{1}=JgTdU,xh1and I8 =
1 1

IE : .
dx = 3{f(a) ~ ()], fhen one of the possible value

ofais .

a) 3 b) & / . -d)5

The order and degree of the differential equation +/sinx (dx + dy) = J/cos {d:-: dy) is
a)1,2 by2,2 rﬁ d:IE 1

The solution of the differential equation Gy dx J— =0 ig

y+sinlx=c b) x+sinly=0 ) y2+2sin-x=c d) 2 + 2sin"ly =0
A pair of dice numbered 1,2,3,4,5,6 of a six-sided die and 1,2,3,4 of a four-sided die is .
roed and the sum is determined. Let the random variable X denoted this sum Then

the number of elements in the inverse image of 7 is .

a) 1 b): 2 c) 3 M

; 0= 2x 0sx<a g _ 27

If *1 0 -otherwise 52 probability density function of a random variable, then the

gldﬁrais -

B 1ea N\ 2 &) 57 i

20.

21,

Which one of the following is incorrect? For any two propositions p and q, we have

a) ~(pva)=-pA-q ° b) =(pag)=-pv-q
ey =(pva)=-pv-q d) ~{-p)=p
iPart-ll. ¢ . _
Answer any 7 questions. (Q.No.30 is c-::-mpulunry]l i) Ix2eif
: §ing e : T

Ifz = (2 + 3i) (1 =), then prove that 2 Ta 2tk

Find a polynomial equation of minimum degree with rational mafﬂc’rsn’r.s hautng s 4"
as a root. -
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3 Xl Maths

Find the principal value of tan"‘{JE }

Ify=4x +cis atangent to the circle X% + y2 = 9, find ¢

Show that the three vectors 2i + 3j+k, i-2j+2k and 3i+ ]+ 3k are coplanar.
Find df for f(x) = x2 + 3x and evaluate it for x = 2 and dx = 0.1

cos® -sind
Prove that sin®  cosO is orthogonal
Show that the solution of ﬁi vi is sin~'y = sin"'x + C or sin"x=sin"y+ C
Find the points on the curve y = x3 - 3x2 + x - 2 at which the tangent is parallel o the

liney=x

X is the number of tails occurred when three fair coins are lossed simultaneously.

Find the values of the random variable X and number of points in its reverse images.
Part - Il

.Anﬁwer any7 QUEﬁtIDHE (Q.No.40 is compulsory) Tx3=21

0121
02 4.3
_ 0 2
Which one of the points 10 — 8i, 11 + 6iis closestto 1 + i

If the sides of a cubic box are increased by 1, 2,3 units respectively to form a cuboid,

then the volume is increased by 52 cubic units. Show that the volume of the cuboid is
€0 cubic units.

Show that the rank of the matrix i3

. Forwhat value of x, the inequality %écus*j{ax ~1)<x holds?
35,

The maximum and minimum distances of the Earth from the Sun respectively are
152 »x10% km and 94.5 ®10% km. The Sun is at one focus of the elliptical orbit. Find the

‘distance from the Sun to the other focus.

An egg of a particular bird is spherical in shape. Ifthe radius to the inside of the shell is
4 mm and radius to the outside of the shell is 4.2 mm, prmre that the approximate
volm e ofthe shells 12.87 mm3,

Show that J “"m“dx tan'1(2}—-

EEC X

Two balls are chosen randemly from an urn containing 6 while and 4 black balls.
Suppose that we win T30 for each black ball selected and the loss 220 for each white
ball selected. If X denotes the winning amount, then find the values of X and number of
points in its inverse images.

Show that p —»q and q—»p are not equivalent.

Solve ; x cos y dy = e*(x log x + 1) dx
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4 " Xl Maths
, Part-1v

Answer all the questions. , . 7x5=35

a) Solve the'system of equations x — —Y+22=2,2X+y+42=7 4x-y+z=4by
Cramer's rule. (OR)

1
1-x 4. -

b) Show that é oy X =51 |

a) Prgv$ that the local minimum values for the funr:tmn f(x) = 4xP — 6x* attain at -1
an

fﬂﬁ'J
b) - Show that the Iucusmz x+iyiflz+i|=|z-1] isx+y=0
a) Using vector method, prove that cos{e— f§) = cosa.cosp + sina sinfi
(OR)
: L2 |9y 3

b) Solve: (1+'::+x1,r )ﬁ+(y+y' ):EI

a) Suppns:e the amount of milk sold daily at a milk booth is distributed with a minimum
of 200 litres and a maximum of 600 litres with probability density function of random

_ s f(x)= 0 200<x<600 = :
variable X is “10 otherwise Find (i) the value of k (i) the distribution
function (i) the probability that daily sales will fall between 300 litres and 500
litres. :

(OR)

b) Find the vector equation (any form) or Cartesian equation of a plane passing through
the points (2,2,1); (9,3,6) and parpendlcular to the plane 2x + Gy +6z=9

a) Show that the area of the region bounded by 3x -2y =0, x =-3andx=1is %

' (OR)
b) On lighting a rocket cracker it gets projected in a parabolic pam and reaches a
_ maximum height of 4 mwhen itis6m away from the point of projection. Finally il .
reaches the ground 12 m away from the starting point. Show that the angle of -
prulectmn is tan” 1(3 ;
a) If cosx + cos ly+cos'z=nand 0 -fx'f.Zﬂ 1, show that 12+y3+ 12+2m 1;
(OR)

b) A bayiswalking along the path y = ax2 + bx + ¢ through the points (-6, 8), (-2, -12)
and (3, 8). He wants to meet his friend at P(7, 60). Will he meet his fnend? [Use
Gaussian Elimination method) .

a) Prove that the ellipse x* + 4'_1,-2 8 and the hyperb::!a xz 233 = 4 intersect
orthogonally. -

(OR)
b) Identify the type of conic and find centre, foci and vertices of .

18x2 + 12y2 — 144x + 48y + 120 =0

Bk
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